S E Hy | ic K| | o A
MEaEEAESEAG A
L 06763 ALA AxTF $HEE 15H% / A3} (02)3462-7213 ~ 4 /| A4 3462-7210
A FA - BEFAEAIG I (EAT), B HEH, 99 0 159
FANS: EAAEAGY -
Alglel =} 2016. 3.
T Al 1A A
2} =z -
= -
A FAAEYgERL
Ald A [ A
T A} 9 N5 2016.3.28.
N o E12 (NO. )  A=RAAFTA 7)1 =AY A} o) F Y of hel
A BEEF: Z(HESR) Ald )= 1A Al 2 A5 )
AN#EH5+Y: 2016.3.17. A= A FH A AlBZAHY:
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O AlFFE I Z(HESR) o Al F A sy A ST
= = 8 B9 2206.55 o A 5967.1¢g
8 2206.55 ci 5967.1 g
2! [ 2.622
(A 2+ =) 7 7(g) 1 | 10465.8 | 2 | 10649.7 ' 3 | 107706
I I
oA 7T (g) 4498.7 i 4682.6 i 4803.5
ALYt (g/cn) 2.039 i 2.122 i 2.177
WW: | 1204.4/DW: [WwW: | 1263.0|DW: W 1237.6|DV: |
DW: | 1148.6|TW: | 197.8;DW: | 1184.3|TW: |  179.9|DV: 1138.5/TW: [ 172.5
Ww: 55.8 Ws:  950.8)lhw: 78.7 Ws:  1004.4|Ww: 99.1Ws:  966.0;
W: 5.9 W: 7.8 W: 10.3:
& o = A ! !
WW: | 1100.1/DW: lyw: | 1259.0|DW: W : 1273.6/DV: |
DW: | 1049.6/TW: | 180.6 |DW: | 1181.4|TW:| 176.3[DW: 1181.9|TW: | 206.3]
W 50.5 Ws: 869w 77.6Ws:  1005.1{Ww: 91.7Ws:  975.6)
W: 5.8! W 7.7 W 9.4!
I
Gkl V(%) 5.9 i 7.8 i 9.9
Az = Yd(g/ar) 1.925 i 1.969 i 1.981
Q7] 2 | |
2z 9 % g/ap) A e —-— e
(A B+2=) T (g) 4 10716.8[ L5 ] 10614.9 ! ] 10578.1
A2 A 7FA () 4749.7 i 4647.8 i 4611.0
R %Y t(g/en) 2.153 | 2.106 | 2.090
WW: | 1279.9|DW: lyw: | 1257.4/DW: W : 1389.1|DV:
DW: | 1169.4| 204| 204.9IDW: | 1130.0/TW: |  177.9|DV: 1228.6|TW:|  186.9
fw:  110.5Ws:  964.5)Ww: 127.4Ws: 952, 1{Ww: 160.5 Ws:  1041.7
W: 11.5 W: 13.4! W 15.4!
g o+ v 5 A -
Ww: | 1284.3|DW: byw: [ 1327.0]w: W 1501.6/DW:
DW: | 1164.2|TW: | 180.3IDW: | 1189.0|TW: | 179.7[DV: 1325.6|TW: |  174.8
Ww:  120.1Ws:  983.9Ww: 138 Ws:  1009.3[Ww: 176 Ws:  1150.8
W: 12.2] W: 13.7] W: 15.3
3t EE] W(%) 11.9 i 13.6 i 15.4
Az EYd(g/an) 1.924 | 1.854 | 1.811
q 2] = 2
52w e e 1.999 1.933 1.868
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oA FEH Z(HESL) Al AR
1. H|5H AHA
= % Ll kel 1 2 H] 3L
v & H 9 H ol 23 41
H o % Wt (g) 81.716 76.403
H W + /75 Wai (g) 330.239]  326.029
Waig @3S wo] == Ti(C) 16.0 16.0
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 0.999880| 0.999880
Wai - Wf (g) ® 248 .523|  249.626
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 330.209]  325.999
2.8 F A 3
HFH + =1F2A 8 + B T%F
1573 ] =T ee 345.694 | 341.547
Wh(g)
s SA4T o] JaxmHe
Yge 2 : Tx(C) o) T
wAZ A8 T Wo (g) 25.023 25.100
T(C)Y wo Wo
59 HlF = 2.623 2.628
(TC / TC) Wo + (Wax - Wh)
2L tgt 5o W (g/cn) 0.99882|  0.99882
E 9 9 Z=(g/cr) 2.620 2.625
g 4 # 2.622 (g/cxt)
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o NFEF I Z(HES) o Al @ A USE D FH
1. MES . HISHES ANEZE
Ams (MES(23)m)] 75 53 37.5 | 26.5 19 9.5 | 4.75 2 0.85 | 0.425 | 0.25 | 0.106 [ 0.075
— [ JrESmE(%) [100.0 [ 100.0 [ 100.0 |100.0 | 99.7 | 96.9 | 92.2 |68.5 | 47.0 [35.3 | 30.2 23.6 23.0
HISH [ Z(MM)| 0.045 | 0.032 | 0.021 | 0.012 [ 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
= A JiMSuE%) [ 21.2 | 19.9 | 18.2 | 159 | 14.7 [ 14.0 | 12.1 | 10.6 0
;
-
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90.0
80.0
70.0 /5
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SAYTAME(H2H AE)

o AEWHE 1 E12 o Al@ddxt 2016.3.28.
o AlAWH : KS F 2302:2002 o 7l&AAR 012Y of %%
o NFFE I Z(HER) o A ¥ A ASHA D FH
_ NO.10FI0I HS AIRE 22 4D
4 2j|HE2
AR SHAZLA W) CHEAIZI AIZ2AHW)
A2
ES (HHZINHEA2+EDI) 3656.7 g (W+E71) 2 1,421.2 g
2712 565.0 g 2J127 565.0 g
HAZO BAE2HM) | 8091.7 g W1 856.2 g
1. 2mHl SDLAISS g4H =H
NO 1 NO 2
W 759.7 Wy 812.7
D 689.7 Tn 180.6  Dw 740.4  Tw 207.4
Wy 70.0  Ws 509. 1 Wy 72.3 s 533.0
W= 13.7% W= 13.6%
HRSAH 13.7%
2. BHIAEZAIZLAMWO) = W/ (1+w) 2720.2
3. 2mAl EBAZAIBSHWR)= W2=WO-W1 1864.0 g 1864.0
4. P2.0(A2.0MOIAIS] IEEDE)= W2/ WO 68.5% 54. 1%
5. 2mE 0l E2 AIRS HEA
K ok 1 2 1 2=1/W0
- i o oA+ weAz oo = " =
Mo poleg 8IS | g5e5)| =g | @7FE*| mse | as
75.0m | 437.10 437.10 0.00 | 0.0% | 0.0% | 100.0%
53.00m | 2 | 461.90 461.90 0.00| 0.0% | 0.0% | 100.0%
37.5mm | 3 | 471.60 471.60 0.00| 0.0% | 0.0% | 100.0%
26.5mn | 4 | 469.50 469.50 0.00 | 0.0% | 0.0% | 100.0%
9.0 | 5 | 456.80 464.40 7.60| 0.3% | 0.3% | 99.7%
9.5mn | 6 | 489.70 566.60 76.90 | 2.8% | 3.1% | 96.9%
a.75m | 7 | 524.00 652.10 | 128.10 | 4.7% | 7.8% | 92.2%
2.om | 8 | 448.90 | 1092.50 | 643.60 | 23.7% | 31.5% | 68.5%
* AXABSH: 856.20 g



£ YTAIE(2.0mmA SUE =4)

o AFME :E12 O A]i%‘x} 2016.3.28.
o 5 57 i
o AR :KS F 2302:2002 o SLEA L ozy
O NFAFE Z(HESL) oA & A ASE
(ZBIAZTAIZH+ZD)2A 692.15 ¢ £9|8Hl(w) : 11.2%
2I12H : 577.00 g £912 % (Gs) : 2.622
SIHATZASE2EA W; : 115.15 ¢ AR (Pl) N.P oA . AMUES
HAXAIZE2H : Ws=100W; /(100+w) : 115.02 g
P2.0(2F2.0mmHlMe JIMEWNS: 68.5%
1. BIAAEXANZY &4Hl SH(XAE$H])
NO : 1 NO : 2 NO : 3
W = 1215.4 W = 1051.7 W =
oW = 1115.3 Tw = 207.5 W = 963.1 Tw = 179.3 oW = Tw =
Ww = 100. 1 Ws = 907.8 Ww = 88.6 Ws = 783.8 Ww = Ws =
W= 11.0% W= 11.3% W=
sl 11.2%
2. HISH AE
== Z DAl 2 HEANS = O Z0(mm) O 2 8 = Al A TN ‘ el 2EI
SN i) [Zxe2 [ 7 Jmesoim] U1 T VUt | JGn/absw [E0e@Eom)] oNTE  [EEATR) 14 PIESAS) Lo
10:01 1 0.0250] 0.0250 121.0 121.0 11.0010 0.0040 0.0445 25 0.0020f 0.0270 37.9% 21.2%
10:02 2 0.0233] 0.0233 124.3 62.2 7.8839 0.0040 0.0319 25 0.0020f 0.0253 35.5% 19.9%
10:05 5 0.0210] 0.0210 128.8 25.8 5.0747 0.0040 0.0205 25 0.0020f 0.0230 32.3% 18.2%
10:15 15 0.0180] 0.0180 134 .6 9.0 2.9951 0.0040 0.0121 25 0.0020f 0.0200 28.0% 15.9%
10:30 30 0.0165] 0.0165 137.5 4.6 2.1406 0.0040 0.0087 25 0.0020f 0.0185 25.9% 14.7%
11:00 60 0.0155] 0.0155 139.4 2.3 1.5242 0.0040 0.0062 25 0.0020f 0.0175 24 5% 14.0%
14:00 240 0.0130] 0.0130 144 .2 0.6 0.7752 0.0040 0.0031 25 0.0020f 0.0150 21.0% 12.1%
10:00 1440 0.0110] 0.0110 148 . 1 0.1 0.3207 0.0040 0.0013 25 0.0020f 0.0130 18.2% 10.6%
HULAHAS EF (Cm) : 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V): 8.69 cm/g Gs/(Gs—0.99678) *rw 1.613 g/om Vb : —?’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 6 7=6%P2.0
- = H2AS+ | ©2A2
A Yz |82 25 o 5 M= &R E JIESNE |EEIJIE SsS
2| ZAlg ZFAlg
0.85mm(NO.20) 1 437.3 473.5 36.20 31.5% 31.5% 68.5% 47.0%
0.425mm(NO.40) 2 369.7 389.2 19.50 17.0% 48 . 4% 51.6% 35.3%
0.25mm(NO.60) 3 380.0 388.7 8.70 7 .6% 56.0% 44 0% 30.2%
0.106mm(NO. 140) 4 345 .1 356. 1 11.00 9.6% 65.6% 34 . 4% 23.6%
0.075mm(NO.200) 5 352.0 353.0 1.00 0.9% 66 . 4% 33.6% 23.0%




CBRA & =
o AlFHZT ©12 o Al A} 2016.3.28
o Al KS F 2320:2000 o 7)1&AYR} o] FY of kel
o NHFEHE T(HESL) o A & A A= :
Z5 [NEFE] (Be+A [BEFA[NEYA] BER [ded w3l o2 W =] 54 CBR
A lzemsl ™ A @ | @ | @ | @ | @ | @ | @
T (2)
3X17 37 8858.7 4571.0| 4287.7| 2209.21| 1.941 9.4 1.774f 5
3X42 38 9093.8 4609.2| 4484.6| 2208.04| 2.031 9.4 1.856| 14
3X92 39 9276.4 4630.6| 4645.8| 2201.71| 2.110 9.4 1.929] 23
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SRR R

= = H “1:].’ A

o AdHE =1 O AT ey 2016.3.28.

A& o KS F 2320:2000 N ki 0174
NAEE . Z(HEs AR A A5

7] 01 2k

T B J‘%(m‘fn)" 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkgg 0 18.0 30.0 39.0 47.0 55.0 63.0 78.0 95.00 130.0|  160.0
=] == ]_

37 |TrEEEl 0.9 1.5 2.0 2.4 9.8 3.9 4.0 4.8 6.6 8.2
(kg f/
=] == ]_]:
?Mﬁ/ﬁ;; 0 0.000] 0.150| 0.195] 0.235] 0.275] 0.315] 0.300| 0.474] 0.649] 0.799
fkgg 0 35.0 75.0]  109.0 140.0 167.0 190.0| 238.0| 204.0] 422.0| 539.0
=] == ]_]:

38 |[CrEEEl 1.8 3.8 5.6 7.1 8.5 9.7 12.1 15.0 91.5 97.5
(kg f/
=] == ]—T:_
?Mﬁ/?ﬁ 0 0.1751  0.375]  0.544]  0.699] 0.834| 0.949] 1.188] 1.468| 2.107] 2.692
Z{gg 0 38.0] 103.0] 176.0] 242.0] 204.0| 336.0] 396.0] 470.0| 674.0| 868.0
=] == ]—T:_

39 °(1;7°f/* 0 1.9 5.2 9.0 12.3 15.0 17.1 20.2 93.9 34.3 44.2
=] == ]—T:_
?Mﬁ/?ﬁ 0 0.190| 0.514] 0.879] 1.208] 1.468| 1.678| 1.977] 2.347] 3.366| 4.334
17 3 (2.5m) gg <100 = 4.0% 5. Omm 100-53 <100 = 4.6%
42 3 (2.5m) gg <100 = 12.1% 5. Omm 110-53 <100 =  14.3%
92 3 (2.5m) ég <100 = 21.3% 5. Omm 120-33 <100 =  922.8%
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